Chapter 6 Section1

@ To obtain thelimitsof integration set f (x) = g(x)
e X*=6X=0 e xX*-6X+9=9 « (x-3)?=9 « (Xx-3)=+3 = x=3%3
Ox=0andx=6
Since gxX)=2f(x)0d gx)-f(x)=0

0 J;[x 6x]dx
©) f(X)=g(X) & X*—4x+3=-x"+2x+3 = 2x*-6x=0 = x*-3x=0

3 3 3.3
<E'X _3X+Z——<:> Zg—ze H_+—<:)(_E+E

Ox=3andx=0
D-[j[(—x2 +2x+3) —(x* —4x+3)]dx=f03(— 2x? +6x)jx
(5) f(X)=g(X) = 3(xX*-X)=0= x*-x=0 = X(X*-1) =0 = Xx(x-1)(x+1) =0
Ox=-1,x=0, and x=1
0 J'_Ol[\?.(x3 - X) —O]dx+J':[O—3(x3 - x)]dx
Since f isan odd function (thatis f(—x) =—f (X))
a 3-[_Ol(x3 - X)dx = —B-L_l(x3 - X)dx = —C%Jj(x3 - X)dx

a 03(x3—x)—0 X+ [|0-3(x® - x)|dx = -6 (x> — X)dx
[l fox+ ] Jox = -6

(13) f(x)=x*-4x, g(x)=0
f(X)=0g(X) = X*-4Xx=0 o X*—4x+4=4 o (Xx-2° =4 = (x-2)=+2
0x=0,4
A2 — .2 4 _D_ls 2D4_§
L (x= —4x)dx = Lx dX+4LXdX_E 3x +2x %— 3

(150 f(x)=x*+2x+1, g(x)=3x+3
f()=0g(x) = X*+2x+1=3x+3 = X’ -Xx-2 == (x-2)(x+1) =0
Ox=-1 2

@

J'[(3x+3) (x* +2x+1)]dx I( x> + X+ 2)dx = E——x += x + 2X 51 >



